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uestion 3
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uestion 7

Simplify each of the
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Question 9

Solve each of the following logarithmic equations.
a) In (x— 3) =2
b) 1-In(3-y)=-1
¢) 2In(2z-1)+5=3
d) In(1-2w)=1+Inw

e) In(2r-3)=2+In(2r+3)

x=e’+3=104|, [y=3-e"=—439|, |z =L(c"+1)=0.684,
. z0.212,t=3(1+62)z—1.97
€+ 2(1—62)
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Question 10

Solve each of the following logarithmic equations.

a) In(x+3)=2
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b) 2In(1-y)+1=
¢ 3-2In(2z-1)=5
d) In(2w+1)=1+In(w-1)

e) In(r+1)=2+In(37)
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Question 11

Solve each of the following logarithmic equations.
a) ln(3x)—ln(x—1) =1
b) 2Iny=In(2y+8)
¢) 2lnz=In(4z+12)
d) In(2w)=2+In(w+3)

e) In(r+7)=1+In(1-2)

2
x=—2 =965, [y=4 y=-2|,[z=6,22-2|, |w= 3ezz—4.11,
€ — 2—e
p= 28T a0y
e—1

Created by T. Madas






uestion 13

& &+8é=6
YRS
Syrg e (=3
AR =4

2 y-tyi8=o

= (B -D4-H=e

> 4o -2 22
el a2

sk /
it /
O 2
= 3t 2 =7
£
F3as2 27 (ad)
= 3 +2=Ta

= 374 +2=0
= G-0l- 2=
o an et
\15 ek

3

Ta.

@ 382520

23
@&f§+5:o r
= k. 2 = L=
=3~ 2 s © )
2 W o 4m=o
23 s-2=o

(G —a w220

Deoaei

@) 2 sev o~

= ;é“;eiw =7
<205 o [(a=2)
= 2a":i5 =Ta

2 2 -Ta ts:zo

= @—-N- Do

e \
> asl oem

&
& Wt(\;’%/

e
® a< 45 - 3t
S +s=s B (axd)
= Amrs= 2
N )
= 2 +3q =3
= 2 v Sa -3 =0
5 G- 3)=0

—_—
=%




uestion 14

Solve each of the following exponenti
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Solve each of the fo
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